195XXXT-5I

INSTRUCTION GUIDE

é PLEASE READ ALL INSTRUCTIONS BEFORE INSTALLATION

AND CHECK TO SEE THAT ALL PARTS ARE INCLUDED

Congratulations on your purchase of a high quality PUTCO product. Should you need any application
or technical assistance, feel free to call us at: 1-800-247-3974

Monday-Friday 8:00 a.m. - 5:00 p.m. (Central Standard Time)
Contact your PUTCO dealer for other quality accessories.

KIT CONTENTS:

Description

Qty.

Molle Tailgate Panel

Molle Backing Plate

Lower Mounting Bracket

M6 Socket Head Bolt

M6 Washer

10-32 X 1”7 Button Head Bolt

#10 Washer

10-32 Well Nut

3/8 X 2.5” Socket Head Bolt

3/8 Washer

3/8 Well Nut

(WD BB [P =] -

INITIALS — 6/7/22

Page 1 of 3

Tools Needed:
— 5mm Hex Key
— 1/8 Hex Key

— 5/16 Hex Key

Instruction_Name : 195XXXT-5I



m — U TOCO Tailgate Molle Rack Installation 195XXXT-3I

Installation Instructions:

0 Remove the access panel on the tailgate.

6 Insert the 10-32 well nuts into the slots in the lower tailgate as shown in Figure 1.

° Loosely attach the backing plate to the molle panel with the 3/8 bolts, washers, and spacers as shown
in Figure 3.

INITIALS — 6/7/22 Page 2 of 3 Instruction_Name: 195XXXT-5I



N U7 CO Tailgate Molle Rack Installation 195XXXT-51

Installation Instructions:

e Align and insert the 3/8 well nuts into the tailgate holes shown in figure 4

e Attach the molle plate to the lower mounting brackets using the M6 bolts.

With the molle plate in place on the tailgate, go back and make sure the bolts are tight. All the bolts
should be snug, but do not overtighten. The installed molle plate should look like the one in Figure 5.

Your new MOLLE Panel is now successfully

installed on your vehicle!

INITIALS — 6/7/22 Page 3 of 3 Instruction_Name : 195XXXT-5I



	195XXXT-5I-1
	195XXXT-5I-2
	195XXXT-5I-3

